MCIND=I\A X
MC Power Vise

VQx_N U= VQX100N - VQX125N
series VQX160N - VQX200N

FHORYVF—R | .
FL2VIKRT 2 DMCINA R ' -
Everlasting standard!
MC vises with

the Orange body

ORMEDZV\FHIERT « @Cast iron body with a high vibration damping property
Q=T HT LoD I— &R CEET @Firm clamping of work ensured by a high clamping force
@ X HRIE S TEE LI @Stable clamping force ensured by the mechanical-type
%1 b ENCINR TEE LI I TRE enhancement toggle mechanism
- s < H @Lift-up reduced to the minimum, offering stable machining
OIRENT TR accuracy
ERYCLHERFINLICRECT @Standard parallel specification

Suitable for long-size work and simultaneous machining of
multiple workpieces

EAZEH Operating Examples

[T YT ]
[By courtesy of Azuma-Japan, Inc.]
\\ IR '!”;f;,p L4 ]

AQOn the 3 m linear table, 10 vises are mounted with
the parallel specification.

= gt 2 €

http://www.azuma-japan.co.jp/

ATF DN TRE LTI TR E ASRYDEE BRI L

ANinimum lift-up ensures stable A\ ong-size precision equipment
machining accuracy. parts are machined.
WA« =4 e BOEHM @ EANTF—IL

WEERBR : 75V TREASSY (USVTERE, THw b, ML, Dyvye—) . AV BRI LBRABUYF. CFryTd. 254 RAN—
WA 73y whoSUTRE. BAAARIOvS, SFTy M\YRIL IFRFYyav\— VI Y a— B#A. BEfty )
XEIHWRICEDETHA FJOY IBHEECEE T, FIESEEE T,

MBody Material : Castiron  IllJaw Material : Hardened steel

WStandard Accessories : Clamping parts assembly (clamping part(s), T-nut(s), bolt(s), washer(s)), handle, L-shaped hexagonal wrench, C-caps, slide cover
WOptions : Parallel clamping parts, stepped guide block, ratchet handle, extension bar, soft jaws (a set of a movable side and a fixed side jaws)

% The guide block can be changed to suit the machine where the vise is mounted. In this case, please contact us.



B ~1ZE Dimensions

(ditagawa

O e

2X5-a

2X2-a

2x2-a

| Eiiopak

Clamping Force Table (81 Unit : kN)
L ¥ Range
=4 VQXx100N — |3 |21 12| 8
T
Sl VQX125N | — |40 | 28 | 16 | 8
Ll VQX 160N 60 | 46 | 32 | 18 | 10
I

VQX200N |70 | 54 | 38 | 22 | 10

0L IFIBIHBIE LD LD FTDT
I NFFEEZRLE T,

% Zero range means clamp without a step-up mechanism.
Clamp force shows an allowable amount.

A= VN VI
Hex. socket head
cap screw

al
0

—
[

79
D)
@,

Z

EEESE S

14

L=Rpz
Width
1

U ci

M {t1%R Specifications

(B3I Unit - mm)

mat woge DEME OREE O2ME @& U-oRAEES 28 2R oaenn M
Jaw width Jaw height Jaw stroke Total height Work mounting face height Full width  Full length ) (ke)

VQX100N 99.5 35 128 120 85 107 3515 30 19
VQX125N 1245 395 205 139.5 100 135 4515 40 35
VQX160N 159.5 45 275 165 120 170 5535 60 62
VQX200N 200 55 300 190 135 211 605 70 100

B JER Size Table (&84 Unit : mm)

B3 Model A B C D E F G H J K L M N P Q R S T U V
VQX100N 3515(1125| 239 | 273 | 785 |385|1605| 14 | 120 | 85 35 | 73 | 64 | 128 | 53 | 180 | 30 | 72 | 101 | 995
VQX125N 4515| 145 |306.5| 365 |86.5 | 66 | 220 | 18 1395|100 | 395| 78 | 74 | 205 | 65 | 180 | 30 | 72 | 126 |1245
VQX160N 553.5| 145 |4085| 455 |985 | 58 | 310 | 18 | 165 | 120 | 45 | 86 | 86 | 275 | 78 | 225 | 37 | 95 | 161 |159.5
VQX200N 605 | 177 | 428 | 505 | 100 | 75 | 328 | 18 | 190 | 135 | 55 | 100 | 97 | 300 | 93 | 225 | 37 | 95 | 202 | 200

VQX100N 107 | 15 |55 [M8 | 90 |105 | 25 [365| 40|70 | 50 | 40 | 10 1 7 |M12X45 |595| 14~26 |225| 35
VQX125N 13521 | 7 |[M10| 75 (215 | 27 | 39 | 50 | 80 | 55 | 50 | 10 1 10 | M16X65 | 71 | 15~31 30 | 45
VQX160N 170|121 | 7 |[M10| 85 |285| 37 | 43 | 80 |100 | 55 | 50 | 15 1 10 | M16X65 | 71 | 15~31 30 | 45
VQX200N 21121 | 7 |[M10|115|275| 50 | 50 | 100 |150 | 70 | 60 | 15 | 2 | 10 |M16X65 | 71 | 15~31 | 30 | 45






